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For this experiment we may put

w = -0000188

T = 2S8.

J = 4-19 X 10'

K = -0917

d = 8-503

The substitution gives

1/q _ i/q' = .0031 X 10-«.

The agreement between theory and experiment leaves no such

large gap to be filled as did the results of Wertheim; that the approach

is so good suggests that it might be profitable to extend such experi-

ments over a much larger range of substances.

I have to thank Messrs. J. D. Buchanan and C. W. Robb of the

class of 1912, for making many of the observations recorded above.
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